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I. LISTENING COMPREHENSION

Directions ;

Exercise 1
¢ ) 1.
« ) 2.
« ) 3.
« 4,
« ) 5.
) 6.
« ) 7.
« ) 8.
« D 9.

Section A ({Conversations)

In this section , you will hear 100 short conversations. At the end of each con-
versation s a question will be asked about what was said. Both the conversation
and the question will be spoken only once. After each question there will be a
pause. During the pause, you must read the four choices marked A, B, Cand

D, and decide which is the best answer.

A. At a hotel. B. At a hospital.
C. At a supermarket. D. At a restaurant.
A. 3 pills. B. 4 pills.

C. 9 pills, D. 12 pills.

A. Philosopher. B. Archaeologist,
C. Sociologist. D. Psychologist.
A. She is busy with her math.

B. She is spending some time going over her account.

C. She is counting the number of vacations.

D. She is excited about going home,

A. Afternoon activities. : B. Tennis playing.
C. Weather. D. Temperature.
A. He likes to sleep.

B. He has too many dreams.

C. He doesn’t have many good ideas.

D. He doesn’t put his ideas into practice.

A. Jane. B. The woman.
C. The man. D. Mike.

A. Not many people take it.

B. It is as easy as the man supposes.

C. It is not as easy as the man supposes.

D. 1t is the hardest course she has ever had.

A. The woman should buy a second-hand car to save money.

L LISTENING COMPREHENSION
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Exercise 2

- 11.

(

)

)

10.

12,

13.

14,

15.

16,

17.

18.

19.

20.

Do 0O w

. Teacher and student.

. He is very handsome.

. A box of match.

COFPOPOPPORPIOR P OEPIOWRP0>0p0p

The woman should save some money to buy a new car.

The woman should buy a used car since she doesn’t have enough money.,
The woman should buy a new car for the long-term benefit.

She isn’t upset about the accident.

She wants the man to pay the cleaning charge.

She is sorry about what the man did to her.

She has done the same tc someone else.

On a plane. On a ship.
On a bus. On a train,
. 10 dollars, 10 cents.

3. 5 dollars. 3. 6 dollars.

Policewoman and driver.

O OPFPUOWE

Policewoman and thief. Shop assistant and customer.
Paul is a pretty boy.

She’d like to help Paul.

Paul has a lot to do today.

Paul might be finished by the evening.

. She is on a committee.

She has been working for a long time.
She has difficulty in sleeping recently.
She has been studying finance for three days and nights.

. He prefers taking the woman’s advice.

He prefers taking a plane.
He prefers taking a bus.

He prefers a faster way of traveling.

. She never thought of going to the concert.

She went to the concert at the last moment.

She will go to the concert tonight.

She didn’t go to the concert.

B. He is very practical.
D. He is rather stupid.
B. A sport match.

He is very intelligent.

An exciting commentary, D. A radio program.

. The woman thinks the man is wasting her time,

The woman thinks the man should say yes or no in two days.
The woman is eager to know the man’s answer,

The woman can wait and there is no need for him to hurry.

REXBNHET ARG ABR
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Exercise 3

« ) 21
« ) 22,
« ) 23.
« ) 24,
¢ ) 25.
) 26,
¢ ) 27,
( ) 28.
¢ ) 29.
¢ ) 30.
Exercise 4
¢ ) 3.
¢ ) 32,
¢ ) 33.
C ) 34.

DOEFPOPDORPTOEPIOETPOPOPORPOP O

>0 P 0P 0P

To have a holiday.

To repair the watch.

. 5 hours.

7 hours.

. At a birthday party.

At a bakery,
Husband and wife.
Teacher and student.
Seeing a film.

Buying a piece of furniture,

He didn’t like to work in the company.

He didn’t like machines.
He didn’t like accounting.
He didn’t like his boss.

People will get used to atomi

C power.

CEOWOEY®UX

To get ready for a phone call.
To fix a telephone.

6 hours,

10 hours.

At a friend’s home.

At a café,

Boss and employee.
Colleagues.

Painting a house.

Film development.

People will be horrified by atomic power for a long time.

He agrees with the woman.

Airplanes are more dangerous than atomic power.

Mr. Smith is happy to hear t

he news.

Mr. Smith feels sorry for Jimmy.

Jimmy doesn’t like school very much.

Jimmy is very sad about his illness.

By sending a postal order.
By check only.

One is copied from the other.

Both of them are well written.

Neither of them was written by the boys.

They are difficult to be copied.

At an airport.

In a police station.
6:30.

7:00.

. Patient and doctor.

Client and lawyer.

He was taking pictures of the campus.

I. LISTENING COMPREHENSION
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By using a credit card.

In cash.

At a railway station.
In a department store.
6:45.

7:15.

Son and mother.

Athlete and coach.



35.

36.

37.

38.

39.

40,

Exercise §

(

(

)

)

41.

42.

43.

44.

45,

46.

>

COPPUOEPOpPO»P0OEP0PIOR

wWrOoP 0P 0

COoOwEF 0P D0

His photographs were on the evening news.

He went to see a film on campus.

His television appearance was unintentional.

A murder.

A burglary.

B. A theft.
D. An armed robbery.

Because it is bad for his health,

Because it has a harmful influence upon the children.

Because it’s a bad example for his followers,

Because it is not a real pleasure.

She is quite confident.
She is not well prepared.

He is an interesting man.

He is cold-blooded.

She thinks it will be easy.
She doesn’t mind it.
He is kind-hearted.

He is very sociable.

oSEoFr

Not to worry about his umbrella.

Wait until noon.

Get his umbrella later.

Listen to the weather forecast.

The woman had heard the song a thousand times,

The man doesn’t agree with the woman.

The song is one of their favorite songs.

The woman and the man are both tired of the song.

Go to the theater.
Go to the cinema.
At a cinema,

At a party.

. 50 pounds.

45 pounds.

Go fishing.
Go shopping.
At a concert,
At a park,
100 pounds.

Cwowow

90 pounds.

Mary likes her boyfriend very much.

He doesn’t want to go with Mary’s boyfriend.

He is surprised that Mary changed her mind.

Mary must have quarreled with her boyfriend.

He is a teacher.

He is a doctor.

B. He is a student.

D. He is a businessman.

A recent fire in the wildness.

A disease.
A burning fever.

A new film.

REXENSE T RSAAN
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47.

48.

49,

50.

Exercise 6
) 51

52.

53.

54.

55,

56,

57.

58.

59.

60.

TOoOwWRPOPOPUOE R

CPUORPOPTOEPOFPOPOPOPOP 0P

. She didn’t like the person sitting beside her,
She didn’t like the dishes,
She didn’t like the host and the hostess.
She didn’t like the other guests,
. Close the window. B. Leave the window open.
Open the window. D. Close the door.
. To buy the ticket early, B. To leave the cinema early.
Not to go to the cinema. D. To go to the cinema early.
. He hasn’t seen Mike yet.
He didn’t like Mike’s appearance.
Mike looks different without his beard.
Mike has totally changed.
John. B. Jane.
Their parents. D. John and Jane.
. 4.5 dollars. B. 7 dollars,
8. 5 dollars. D. 9 dollars.
. At a parking lot. B. At a garage.
At a new car showroom. D. At a car shop.
Cook. B. Cashier.
Waitress. D. Manager.
. It was his {fault, B. He will be more careful.
He will accept all responsibilities, D. He is not to blame.
. Doing garden work. B. Shopping.
Cooking. D. Eating out.
. His job is in the city.
Jobs are easy to find in the city.
Living in the city is cheaper.
His girlfriend wants to live in the city.
. They are caught in the rain. B. They are waiting for a bus.
A mad dog is biting the woman. D. The man doesn’t like snow.

. To take the children to an amusement park after giving them some food.

To let the children amuse themselves and then give them cake and candy.
To let the children amuse themselves after giving them cake and candy.

To arrange some games for the children after giving them some food.

. Work out the research plan. B. Complete the research.

Put the material in order. D. Write the paper.

L LISTENING COMPREHENSION
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Exercise 7

) 6l The man’s wife. B. The man’s father’s family.
The man’s wife’s family. D. The man’s family.

¢ ) 62 Husband and wife. B. Manager and secretary.
Customer and shop assistant. D. Teacher and student.

( ) 63. A. 30 dollars. B. 40 dollars.
80 dollars. D. 120 dollars.

( ) 64, At a hospital. B. In an office.
In a laundry. D. At a disco.

. He would like to go with the woman.

He likes the film very much.

He doesn’t like the film.

He won’t go to see the film because it is the last one.
Flowers. B. Carpet.
Curtains. D. Colors.
The bus was late.

He got up later than usual.

He forgot his class,

There was something wrong with his clock.

. The talks have come to an end.

The talks have produced an agreement.

The talks haven’t achieved much.

The talks broke down and could go no further.
To find a new typewriter and a new typist.

To find a new typewriter or a new typist.

To find a new typewriter.

To find a new typist.

.O>.U.OP°?>.U.O.UJ>UOP°?>O?>.UOPU>O?>O>O?>O?>

( ) 70. A. They divorced. B. They quarreled.
They made up. D. They remarried.

Exercise 8

C ) 71. A, A coat. B. A sweater.

' C. A shirt. D. Nothing.

¢ ) 72, A. 2:00. B. 4:00,
C. 6:00. D. 8:00.

( ) 73. A. Classmates. B. Employee and manager.
C. Colleagues. D. Relatives.

( ) 74. A. By the sea. B. On the beach,
C. On a boat. D. In a restaurant.

REXFNHE ARG AUR
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He must learn to understand Gary’s humor better.

He doesn’t appreciate Gary’s humor.

He enjoys Gary’s humor a great deal.

He thinks Gary is not funny enough.

She paid 40 dollars for the necklace.

Her husband gave it to her as a gift.

She bought it for her fortieth birthday.

Her friend sent it to her as a birthday present.

Motorcycling is too dangerous.

Buying a motorcycle costs too much.

Driving lessons are too expensive.

Taking a bus is more convenient.

. She has been given a one-month holiday.

She has been offered a new job.

She has been fired.

She has been dismissed for her poor performance.

Talk to Nancy herself. B. Be hostile to Nancy.
Ask Nancy to come out. D. Take revenge on Nancy.
. The woman thinks the book is very good.

The woman doesn’t like the book very much.

The woman wants to review the book.

DOREPOPDORPODOEPUOF»IONRY

Opinions about the book are varied.

Exercise 9
( ) 81. A. She met her relative in the street.
She met the man’s friend in the park,
She met their friend in the street.

She talked to their friend through telephone.

C ) 82 One. B. Two.
Three. D. Four.
( ) 83. A. At a travel agency. B. At a hotel.
At an airport. D. At a bookstore.
Customs officer and traveler. B. Shop assistant and customer.
Clerk and manager. D. Teacher and student,

He doesn’t believe the woman.

He said the same thing before.

He agrees with the woman.

He has heard the woman saying so before.

. Posing for the camera. B. Taking pictures.

e o]
g o
>PDOPPOPOFPOPITOTY
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C.
¢ > 87. A
B.
C.
D.
¢ ) 88 A
B.
C.
D.
¢ ) 89. A
B.
C.
D.
¢ ) 90. A
B.
C.
D.

Exercise 10
¢ ) 9l

« > 92

¢ ) 893

) 94,

Nej
[o.2]
® O

©
a
CEPOPDOFPORPORP0R0R

Buying a camera. D. Doing business.

. He doesn’t know Kevin,

He is in a big hurry.
There is something wrong with the phone.

His hands are dirty.

. He should meet his partner’s needs.

They should come to a compromise.

He should find a new partner.

They should figure out a new project.

He only lends his car to his best friend.

He never borrowed the woman’s car,

He only wants to lend his car to the woman.
He is reluctant to lend his car to the woman.
He turned in his term paper on time,

He has too many papers to write,

He will not survive at university.

His papers are often late,

. Larger. B. Smaller.
The same size. D. Better.
7:00. B. 8:00.
9:00. D. 10:00.
Office secretary. B. Travel agent.
Hotel manager. D. Hotel receptionist.
In a library, B. At a bank.
At a theater, D. In a shop.

She heard the noise,

She didn’t hear the noise.

She wasn’t sure if she heard the noise.

She wanted to know whether she heard the noise,

Changing the channel. B. Watching TV,
Listening to the radio. D. Reading the newspaper.
He feels something wrong with his stomach.

He feels like flying with some butterflies,

He is very excited.

He is very anxious.

. He misses his father very much.

He doesn’t want his father-in-law to come.

REXBEAZFASLER
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C. He is happy to see his father-in-law.
D. He doesn’t want the house to be too crowded.
( ) 99. A. To buy himself a pair of tennis shoes. -
B. To change the tennis shoes in the sportswear department.
C. To play tennis in the department store,
D. To ask the way to the department store.
( ) 100. A. She is furious.
B. She is happy.
C. She is impatient,
D. She is satisfied.

Section B1 (Passages)

Directions: In this section . you will hear 30 short passages. At the end of each passage,
you will hear some questions. Both the passage and the question will be spoken
only once. After you hear a question, you must choose the ONE answer from
the four choices marked A, B, Cand D.

Exercise 11
Passage 1

Questions 101 to 103 are based on the passage you have just heard.
( ) 101,

He was a lazy man.

He was a lucky person.

o®p

He was short of money.

He didn’t get on well with his boss.
¢ ) 102, Someone had come to make an apology.

Someone had come to give him the money.

His friends had come to ask about the football pools.
His friends had come to congratulate him on his luck.
( ) 103. A. Disappointed.
Worried.

Nervous.

SCWrUO® D

Curious.

Passage 2
Questions 104 to 107 are based on the passage you have just heard.
( ) 104. A. It has a smaller population.

B. It is an international city.

C. It is more difficult to go somewhere on foot in Tokyo.

I. LISTENING COMPREHENSION
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Its people are friendlier and more polite.
( ) 105, When the nightclubs are closing.
At 8 o’clock in the morning,
When the train is overcrowded.
At 11:30 a. m.

( ) 106, A. They are very nice and comfortable.
There are not enough trains.

They often run behind schedule.

They leave and arrive at the right time.
( ) 107. A. They broke out occasionally.
They broke out quite frequently.

They broke out not very often.

CORPTOEPUOR P

They broke out twice a day.

Passage 3
Questions 108 to 110 are based on the passage you have just heard.
( ) 108. A. Fatness and health.
B. Ways to lose weigh.
People’s figures.
Distribution of fat.
( ) 109. A. People who look like pears.
People who have more internal fat.
People who like apples.
People who have more external fat,
( ) 110. A. He loses more internal fat than external fat.

He loses more external fat than internal fat.

He loses more fat above the waist.

COEPIOEFUD

He loses more fat below the waist.

Exercise 12
Passage 4
Questions 111 to 113 are based on the passage you have just heard,
( ) 111. A. Because it was cool in summer.
B. Because they might spend less money.
Because they were more welcome there.
Because it was a comfortable place.
¢ ) 112, Because they were shy to borrow money again.

Because they were afraid to be asked to pay off the debts.

Owp oo

Because they had been ill-treated.

RELFUHTAGEHMR
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D.
¢ ) 113. A
B.
C.
D.
Passage §
Questions 114
¢ ) 114, A.
B.
C.
D.
¢ ) 115. A
B.
C.
D.
( ) 116. A,
B.
C.
D.
¢ ) 117. A
B.
C.
D.
Passage 6
Questions 118
( ) 118. A.
B.
C.
D.
¢ ) 119. A.
B.
C.
D.
¢ ) 120. A.
B.
C.
D.

Because it wasn’t happy for the poor to meet the rich.

. Mr. Richards still complains about the coming of his relatives in summer.

The friend of Mr. Richards’ hadn’t as many relatives as Richards.
Gradually Mr, Richards succeeded in keeping his relatives out in summer.

None of Richards’ relatives came to the seaside town for their holidays again,

to 117 are based on the passage you have just heard,

Classical Age.

Middle Ages.

Age of Genius.

Age of Renaissance.

Geniuses are born talented.

Geniuses are often produced in the same age.

Fighting for the riches of the newly discovered Americas produced geniuses.
A period during which new ideas were replacing older ideas might produce geniuses.
Raphael,

Leonardo da Vinci.

Michelangelo.

Mona Lisa,

. His Mona Lisa.

His paintings in Sistine Chapel.
His well-balanced pictures.

His contributions to science.

to 120 are based on the passage you have just heard.

Because he wanted to catch the readers’ attention.

Because he wanted to have the readers guess the answer before reading.
Because he wanted to sum up the topic of this passage.
Because he wanted to make the readers understand him better.
Bedroom,

Kitchen,

Living room.

Sitting room.

Ask a neighbor to pick up the daily mail.

Turn on the radio and play some music.

Make sure the newspaper is handed over every day.

Pull the living room curtains down.
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